

Period Ricard  
Inventory Receipt Register

Item Number	Description	Supplier	Supplier Name	Receipt Date	Order Number	Or Ty	Line Number	Document Number	Do Ty	UM	Quantity Received	Amount Received	Amount Received Foreign	Cur Cod
141938	Malfy Gin Originale	51870	CPTD Liquor Runners WH WC	4/22/2025	30262	OT	1.000	251161	OV	CA	10.0000	10,719.06		ZAR
190160	Aberlour 16YO Double Cask Tube	51870	CPTD Liquor Runners WH WC	4/22/2025	30262	OT	2.000	251161	OV	CA	1.0000	5,005.89		ZAR
200000	Absolut Lime	51870	CPTD Liquor Runners WH WC	4/22/2025	30262	OT	3.000	251161	OV	CA	11.0000	19,784.33		ZAR
101475	Jameson Whiskey Std	51870	CPTD Liquor Runners WH WC	4/22/2025	30262	OT	4.000	251161	OV	CA	11.0000	16,929.69		ZAR
141932	Malfy Gin Rosa	51870	CPTD Liquor Runners WH WC	4/22/2025	30262	OT	5.000	251161	OV	CA	10.0000	10,730.54		ZAR
200007	Absolut Watermelon	51870	CPTD Liquor Runners WH WC	4/22/2025	30262	OT	6.000	251161	OV	CA	11.0000	19,199.68		ZAR
148103	Kahlua	51870	CPTD Liquor Runners WH WC	4/22/2025	30262	OT	7.000	251161	OV	CA	70.0000	143,772.05		ZAR
200702	Absolut Raspberri	51870	CPTD Liquor Runners WH WC	4/22/2025	30262	OT	8.000	251161	OV	CA	22.0000	38,398.96		ZAR
162101	Absolut Passionfruit Martini	51870	CPTD Liquor Runners WH WC	4/22/2025	30262	OT	9.000	251161	OV	CA	30.0000	11,252.94		ZAR
162100	Absolut Berry Vodkarita	51870	CPTD Liquor Runners WH WC	4/22/2025	30262	OT	10.000	251161	OV	CA	60.0000	21,570.23		ZAR
161104	Inverroche Gin Amber	51870	CPTD Liquor Runners WH WC	4/22/2025	30262	OT	11.000	251161	OV	CA	50.0000	93,169.83		ZAR
161102	Inverroche Gin Verdant	51870	CPTD Liquor Runners WH WC	4/22/2025	30262	OT	12.000	251161	OV	CA	20.0000	37,267.93		ZAR
161100	Inverroche Gin Classic	51870	CPTD Liquor Runners WH WC	4/22/2025	30262	OT	13.000	251161	OV	CA	20.0000	37,267.93		ZAR
101292	Jameson Whiskey 18YO	51870	CPTD Liquor Runners WH WC	4/22/2025	30262	OT	14.000	251161	OV	CA	5.0000	23,438.72		ZAR
101380	Green Spot Whiskey	51870	CPTD Liquor Runners WH WC	4/22/2025	30262	OT	15.000	251161	OV	CA	1.0000	3,404.16		ZAR
440802	Havana Club 7YO	51870	CPTD Liquor Runners WH WC	4/22/2025	30262	OT	16.000	251161	OV	CA	5.0000	11,810.18		ZAR
101200	Jameson Whiskey Std	51870	CPTD Liquor Runners WH WC	4/22/2025	30262	OT	17.000	251161	OV	CA	5.0000	8,210.33		ZAR
101550	Jameson Whiskey Std	51870	CPTD Liquor Runners WH WC	4/22/2025	30262	OT	18.000	251161	OV	CA	11.0000	45,102.64		ZAR
141930	Malfy Con Arancia	51870	CPTD Liquor Runners WH WC	4/22/2025	30262	OT	19.000	251161	OV	CA	10.0000	10,734.32		ZAR
141934	Malfy Con Limone	51870	CPTD Liquor Runners WH WC	4/22/2025	30262	OT	20.000	251161	OV	CA	5.0000	5,364.71		ZAR

CPTD Liquor Runners WH WC

573,134.12

R43512

Period Ricard  
Inventory Receipt Register

Date - 4/22/2025

Time - 17:00:11

Page - 2

Item Number	Description	Supplier	Supplier Name	Receipt Date	Order Number	Or Ty	Line Number	Document Number	Do Ty	UM	Quantity Received	Amount Received	Amount Received Foreign	Cur Cod
								DGB Port Elizabeth				573,134.12		
								Grand Total				573,134.12		

A handwritten signature in black ink, appearing to read 'B. Buisson', is written over the bottom right portion of the table's data area.



# Pernod Ricard South Africa

## Purchase Receiver Print

Delivery Address:  
 SDPE Liquor Runners PE  
 Bruce McWilliam Park  
 cnr Burman Road & Stephson Road  
 Port Elizabeth 6001

Receiver: 30262 - 000 - OT  
 Supplier: 51870

Order Date	2025-04-15	Reference		Ordered By	PR051952
Requested	2025-04-15	Order Taken By			

Account/Item Number	Description	Description 2	UM	Ordered	Dist/Line Number	Open	Received
141938	Malfy Gin Originale	6x750ml 43%	CA	10.0000	1.000	10.0000	10
190160	Aberlour 16YO Double Cask Tube	6x750ml 43%	CA	1.0000	2.000	1.0000	1
200000	Absolut Lime	12x750ml 40%	CA	11.0000	3.000	11.0000	11
101475	Jameson Whiskey Std	12x375ml 43%	CA	11.0000	4.000	11.0000	11
141932	Malfy Gin Rosa	6x750ml 43%	CA	10.0000	5.000	10.0000	10
200007	Absolut Watermelon	12x750ml 38%	CA	11.0000	6.000	11.0000	11
148103	Kahlua	12x750ml 16%	CA	70.0000	7.000	70.0000	70
200702	Absolut Raspberri	12x750ml 38%	CA	22.0000	8.000	22.0000	22
162101	Absolut Passionfruit Martini	6x(4x300ml) 6%	CA	30.0000	9.000	30.0000	30
162100	Absolut Berry Vodkarita	6x(4x300ml) 6%	CA	60.0000	10.000	60.0000	60

161104	Inverroche Gin Amber	6x750ml 43%	CA	50.0000	11.000	50.0000	50
161102	Inverroche Gin Verdant	6x750ml 43%	CA	20.0000	12.000	20.0000	20
161100	Inverroche Gin Classic	6x750ml 43%	CA	20.0000	13.000	20.0000	20
101292	Jameson Whiskey 18YO	3x750ml 46%	CA	5.0000	14.000	5.0000	5
101380	Green Spot Whiskey	6x750ml 43%	CA	1.0000	15.000	1.0000	1
440802	Havana Club 7YO	12x750ml 43%	CA	5.0000	16.000	5.0000	5
101200	Jameson Whiskey Std	24x200ml 43%	CA	5.0000	17.000	5.0000	5
101550	Jameson Whiskey Std	12x1000ml 43%	CA	11.0000	18.000	11.0000	11
141930	Malfy Con Arancia	6x750ml 43%	CA	10.0000	19.000	10.0000	10
141934	Malfy Con Limone	6x750ml 43%	CA	5.0000	20.000	5.0000	5

*Buizen*

C/o Burman & Stephonsen Street  
Deal Party  
Port Elizabeth  
6000



**Liquor Runners**

C/o Burman & Stephonsen Street  
Deal Party  
Port Elizabeth  
6000

041 486 3222

Liquor Runner Port Elizabeth

041 486 3555

Wilhelm@lrusa.co.za

Http://www.lrusa.co.za

**GRV for PERNOD RICARD SOUTH AFRICA (PTY) LTD - LRSA NR: 7664 (GRV)**

**Receiver:** Xolela  
**Checker:** Xolela  
**Warehouse:** Cape Town  
**Receiver Date:** 2025-04-22  
**WarehouseRecv:** Port Elizabeth  
**Sender Ref 1:** 31629/0003026Z/1550467IBT  
**Sender Ref 2:** 70151

**Stock Received**

SKU Code	Stock Description	Bin	Batch Number	QTY(Cases)	QTY(Units)
190160	ABERLOUR 16 YEAR OLD IN CANISTER (6 X 750M			1	6
101380	GREEN SPOT (6 X 750ML)			1	6
141934	MALFY CON LIMONE (6 X 750ML)			5	30
141938	MALFY GIN ORIGINALE (6 X 750ML)			10	60
141930	MALFY CON ARANCIA (6 X 750ML)			10	60
141932	MALFY GIN ROSA (6 X 750ML)			10	60
440802	HAVANA CLUB 7YEAR OLD (12 X 750ML)			5	60
101292	JAMESON 18 YEAR OLD			5	15
101200	JAMESON STANDARD (24 X 200ML)			5	120
101475	JAMESON STANDARD (12 X 375ML)			11	132
101550	JAMESON STANDARD (12 X 1L)			11	132
200000	ABSOLUT VODKA LIME (12 X 750ML)			11	132
200007	ABSOLUT WATERMELON (12 X 750ML)			11	132
200702	ABSOLUT VODKA RASPBERRY (12 X 750ML)			22	264
148103	KAHLUA COFFEE LIQUEUR (12 X 750ML)			70	840
161102	INVERROCHE GIN VERDANT (6 X 750ML)			20	120
161100	INVERROCHE GIN CLASSIC (6 X 750ML)			20	120
161104	INVERROCHE GIN AMBER (6 X 750ML)			50	300
162101	ABSOLLUT PASSION FRUIT CAN	15042026	L25015	30	180
162100	ABSOLLUT BERRY VODKARITA CAN	10052026	L25041	60	360
	<b>Total QTY Received</b>			<b>368.00</b>	<b>3,129.00</b>

Checked By:

Transport Company:

Receiver:

JBK115FS

Checker:

Zamokuhle Jackson Nxathi

Driver Signature:

22/04/2025

04:39:48 PM

1/1

# LRSA SINGLE PICK SLIP FOR INTER BRANCH TRANSFER

1472963

LR PORT ELIZABETH IBT TO RECEIVE 0 PALLETS

31629/00030262/1550467IBT

St Code	St Desc	Pack Size	Batch	Unit	Units QTY
---------	---------	-----------	-------	------	-----------

PR SACPT

LR PORT ELIZABETH IBT

CS	368				
190160	Aberlour 16YO Double Cask Tube	6x750ml 43%		CS	1 ✓
162100	Absolut Berry Vodkarita	6x(4x300ml) 6%	L25041	CS	60 ✓
200000	Absolut Lime	12x750ml 40%		CS	11 ✓
162101	Absolut Passionfruit Martini	6x(4x300ml) 6%	L24129	CS	30 ✓
200702	Absolut Raspberri	12x750ml 38%		CS	22 ✓
200007	Absolut Watermelon	12x750ml 38%		CS	11 ✓
101380	Green Spot Whiskey	6x750ml 43%		CS	1 ✓
440802	Havana Club 7YO	12x750ml 43%		CS	5 ✓
161104	Inverroche Gin Amber	6x750ml 43%		CS	50 ✓
161100	Inverroche Gin Classic	6x750ml 43%		CS	20 ✓
161102	Inverroche Gin Verdant	6x750ml 43%		CS	20 ✓
101292	Jameson Whiskey 18YO	3x750ml 46%		CS	5 ✓
101200	Jameson Whiskey Std	24x200ml 43%		CS	5 ✓
101475	Jameson Whiskey Std	12x375ml 43%		CS	11 ✓
101550	Jameson Whiskey Std	12x1000ml 43%		CS	11 ✓
148103	Kahlua	12x750ml 16%		CS	70 ✓
141930	Malfy Con Arancia	6x750ml 43%		CS	10 ✓
141934	Malfy Con Limone	6x750ml 43%		CS	5 ✓
141938	Malfy Gin Originale	6x750ml 43%		CS	10 ✓

Picked By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Tuesday 15 April 2025

1/2

# LRSA SINGLE PICK SLIP FOR INTER BRANCH TRANSFER

1472963

LR PORT ELIZABETH IBT TO RECEIVE 0 PALLETS

31629/00030262/1550467IBT

St Code	St Desc	Pack Size	Batch	Unit	Units QTY
141932	Malfy Gin Rosa	6x750ml 43%		CS	10 ✓

Total Cases: 368

Total Pallets: 0

Picked By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Tuesday 15 April 2025

2/2

# LRSA VARIANCE REPORT FOR SINGLE INVOICE

1472963

LR PORT ELIZABETH IBT TO RECEIVE 4 PALLETS

31629/00030262/15504671

Scanned	St Code	St Desc	PackSize	Unit	Units QTY	Scan QTY	Variance
	190160	Aberlour 16YO Double Cask Tube	6x750ml 43%	CS	1	1	0
	162100	Absolut Berry Vodka	6x(4x300ml) 6	CS	60	60	0
	200000	Absolut Lime	12x750ml 40%	CS	11	11	0
	162101	Absolut PassionFruit Martini	6x(4x300ml) 6	CS	30	30	0
	200792	Absolut Raspberri	12x750ml 38%	CS	22	22	0
	200007	Absolut Watermelon	12x750ml 38%	CS	11	11	0
	101380	Green Spot Whiskey	6x750ml 43%	CS	1	1	0
	440802	Havana Club 7YO	12x750ml 43%	CS	5	5	0
	161104	Inverroche Gin Amber	6x750ml 43%	CS	50	50	0
	161100	Inverroche Gin Classic	6x750ml 43%	CS	20	20	0
	161102	Inverroche Gin Verdant	6x750ml 43%	CS	20	20	0
	101292	Jameson Whiskey 18YO	3x750ml 46%	CS	5	5	0
	101475	Jameson Whiskey Std	12x375ml 43%	CS	11	11	0
	101200	Jameson Whiskey Std	24x200ml 43%	CS	5	5	0
	101550	Jameson Whiskey Std	12x1000ml 43	CS	11	11	0
	148103	Kahlua	12x750ml 16%	CS	70	70	0
	141930	Malty Con Arancia	6x750ml 43%	CS	10	10	0
	141934	Malty Con Limone	6x750ml 43%	CS	5	5	0
	141938	Malty Gin Originale	6x750ml 43%	CS	10	10	0
	141932	Malty Gin Rosa	6x750ml 43%	CS	10	10	0
					368.00	368.00	0.00

*R. M. Gall 11*

C/o Range rd & Anfield rd  
Blackheath  
Kuilsrivier  
Cape Town

(021) 903 3880

Pieter@lrsa.co.za



Liquor Runners Cape Town

(021) 903 8874

Http://www.lrsa.co.za



### IBT INSTRUCTION / DISPATCH NOTE CONSIGNEE - LR PORT ELIZABETH IBT

PRSACPT

TOTAL QUANTITY FOR IBT: 0

PRINCIPAL REFERENCE NUMBER

Number of Mixed: 4

31629/00030262/1550467IBT

IBT SPECIAL INSTRUCTIONS

Transport Company:

LR Primary

Driver Name:

Sipho

Expected Delivery Date: 2025-04-22

Truck Reg Nr:

JBK115FS

Transport Reference: Z0151.

Dispatch Date:

2025-04-21

Dispatch Time:

11:45

Driver Signature:

LR Signature:

No. of Seals	Received by Driver	Seal Number
1		4645893-4645896
2		
3		
4		
5		
6		
7		
8		
9		
10		
11		
12		



# Transfer OUT

A Brambles Company



4252846732

<b>From:</b>	<b>References:</b>	<b>Dates :</b>
<b>CHEP Global ID:</b> 2700048462 <b>Address :</b> Liquor Runners Cape Town CC Kullshriver 31 Industrie Street CAPE TOWN 7580 SOUTH AFRICA <b>Tel:</b> +270219038874 <b>Fax:</b> +270219033880	<b>Reference:</b> ST31629 <b>Other Reference:</b> PERNOD RICARD	<b>Shipment Date:</b> 21/04/2025 <b>Effective Date:</b> 21/04/2025 <b>Capture Date:</b> 21/04/2025
<b>Transporter:</b> Own Transport	<b>Vehicle Reg No:</b> JBK 115 FS	
<b>Shipped To:</b>	<b>Notes(Hand Written):</b>	
<b>CHEP Global ID:</b> 2700025158 <b>Address:</b> Liquor Runner Port Elizabeth C Deal Party 27 BMI Industrial Park C/O Stephens PORT ELIZABETH 6210 SOUTH AFRICA <b>Tel:</b> +270414863555 <b>Fax:</b> +270414863222 (0)00 000 0000	<b>Created by:</b> Hendricks Charles :- pp-hendricha dccpt@lrsa.co.za	
<b>Equipment</b>		<b>Quantity</b>
1-B1210A-1200x1000 Block Pallet		2
<b>Total</b>		2
<b>Shipper's Signature</b>	<b>Received By</b>	<b>Driver Name</b> SIPHO
	<b>Receiver's Signature and Date</b>	<b>Driver's Signature</b> 
<b>Date Received</b>		



# Liquor Runners

Grape Town

2025/04/15

To Deposit:

PE

#	IBT REF	PRODUCT DESCRIPTION	SEND WEIGHT	REC WEIGHT	PALLET #	LOADED (Y/N)
1	ST31629	Kahlua	1146	1146	4	
2		Mix	1065	1065	1	
3		Mix	944	944	2	
4		Mix	991	991	3	4146
5	IBT00006	Mix	828	828	1	828
6						
7						
8						
9						
10						
11						
12						
13						
14						
15						
16						
17						
18						
19						
20						
21						
22						
23						
24						
25						
26						
27						
28						
29						
30						
31						
32						
33						
34						
35						
36			4974			

Deal Party  
Port Elizabeth  
6000

Deal Party  
Port Elizabeth  
6000



041 486 3222

Liquor Runner Port Elizabeth

041 486 3555

Wilhelm@lrta.co.za

Http://www.lrta.co.za

**GRV for PERNOD RICARD SOUTH AFRICA (PTY) LTD - LRSA NR: 7664 (GRV)**

Receiver: Xolela  
 Checker: Xolela  
 Warehouse  
 Sender Ref 1:  
 Receive Date: 2025-04-22  
 WarehouseRecv:  
 Sender Ref 2:

SKU Code	Stock Description	Bin	Batch Number	QTY(Cases)	QTY(Units)
----------	-------------------	-----	--------------	------------	------------

190160	ABERLOUR 16 YEAR OLD IN CANISTER (6 X 750M			1 ✓	6
101380	GREEN SPOT (6 X 750ML)			1 ✓	6
141934	MALFY CON LIMONE (6 X 750ML)			5 ✓	30
141938	MALFY GIN ORIGINALE (6 X 750ML)			10 ✓	60
141930	MALFY CON ARANCIA (6 X 750ML)			10 ✓	60
141932	MALFY GIN ROSA (6 X 750ML)			10 ✓	60
440802	HAVANA CLUB 7YEAR OLD (12 X 750ML)			5 ✓	60
101292	JAMESON 18 YEAR OLD			5 ✓	15
101200	JAMESON STANDARD (24 X 200ML)			5 ✓	120
101475	JAMESON STANDARD (12 X 375ML)			11 ✓	132
101550	JAMESON STANDARD (12 X 1L)			11 ✓	132
200000	ABSOLUT VODKA LIME (12 X 750ML)			11 ✓	132
200007	ABSOLUT WATERMELON (12 X 750ML)			11 ✓	132
200702	ABSOLUT VODKA RASPBERRY (12 X 750ML)			11 ✓	132
200702	ABSOLUT VODKA RASPBERRY (12 X 750ML)			11 ✓	132
148103	KAHLUA COFFEE LIQUEUR (12 X 750ML)			70 ✓	840
161102	INVERROCHE GIN VERDANT (6 X 750ML)			20 ✓	120
161100	INVERROCHE GIN CLASSIC (6 X 750ML)			20 ✓	120
161104	INVERROCHE GIN AMBER (6 X 750ML)			50 ✓	300
162101	ABSOLUT PASSION FRUIT CAN			30 ✓	180
162100	ABSOLUT BERRY VODKARITA CAN			60 ✓	360

Total QTY Received 368.00 3,129.00

L-25015 15042026  
 AL-2504 10052026

22 ✓

Checked By: Kobelt M/S  
 Transport Company: LR own

Receiver: SIRIHO  
 Checker: SRK11575

Driver Signature: \_\_\_\_\_